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Placing Decimals with Multiplication Name:
Deter mine the placement of the decimal in each product. ANnswers
7 5.809 x 7.8 = 453102 N\
1. Count the quantity of numbers to the L
right of the decimal for each factor, 2. ShAdd the amountstogether. Y our answer
_ ould have the same quantity of humbersto
5.809 hasB_numbers right of the the right of the decimal. 2
decimal (5.809) 3+1=4
7.8 has1 numbeE 7ng)ht of the decima 5,089 (3) x 7.8 (1) = 45.3102 (4) N
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but |ess than 4
5.
D) 716ax1= 7 1 6 4
2) 5x82= 4 1 0 6.
3) 2x6569= 13138 -
4 1741x8= 139 2 8 .
5 21x3= 6 3
9,
6) 73x9743= 7112309
10.
7) 9123x8= 7 298 4
8) 1.13 x 9.166 = 1 0 3 7 5 8 11.
9) 51%x8.94= 4 5 5 4 12.
10) 2.35x 5112 = 1 2 0 3 2 0 3
11) 915x4.791 = 4 3 8 7 6 5
14.
12) 7x831= 5 8 1
13) 4375x9= 39375 15
14) 3 X 85 — 2 5 5 16.
15) 5783x39= 2 06 03 7 .
16) 6x5.98= 3 5 8
18.
17) 95x5= 4 7 5
19.
18) 5x47= 2 3 5
19) 269x4.2= 112 9 8
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Placing Decimals with Multiplication Name. Answer Key
Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N\
- 1 7.164
L C.O UAHls quant! e s Etos 2. Add the amounts together. Y our answer
right of the decimal for each factor. .
_ should have the same quantity of numbersto
5.809 has 3 numbers right of the the right of the decimal. 2 41.0
decimal (5.809) 3+1=4
7.8has1 numbez 7|r|g)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N 13.138
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than 13.928
4. .
) 5. 6.3
7.164x 1= 7.1 6
3 2x6569= 1 3.1 38 . 72,984
4) _
1.741 x 8= 1 3.9 8 g. 10.35758
5 21x3= 6.3
9. 45.594
6) 73x9743= 7 1.1 2 309
12.01320
7 9123x8= 7 2.9 8 4 10
8) 113x9.166= 1 0.3 7 5 8 1. 43.83765
9 51x894= 4 55 9 4 2 58.17
10) -
2.35x%x 5,112 1 2.0 320 s 39375
11) 915x4.791= 4 3.8 37 6 5
14, 25.5
12) 7xg831= 5 8.1
20.6037
13) 4375x9= 39.375 15, 20.603
14) 3x85= 2 5.5 1. 35.88
15 5283x39= 2 0.6 03 7 o 475
16) x598= 3 5.8
' 18, 23.5
17) 95x5= 4 7.5
19. 11.298
18) 5x47= 2 3.5
19) 269x42= 1 1.2 9 8
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